2 REARE=SIVBRERR

i LT #55E (Ba/ke)

No | siEEtk | AR | wErH | . AP | FEER G RE RE% P L) R, B par | BRE 0 BR | oois | cerwr | osant
1 %f*ﬁb,j rER s |— I REY ThE — BERRERE V- Ge H25.10.21 | H25.10.21 | <38 <35 <1.3
2 %f‘;%;yj BEER BLm | — FEE REY Y—av — EERBRERE I Ge H25.10.21 | H25.10.21 <39 <44 <83
3 %f“;%,,j rER s |— I REY Lhd — BERERERE V- Ge H25.10.21 | H25.10.21 | <35 <31 <6.6
4 %f‘;%;yj BEER BLm | — FEE REY Xt ik EREREERE VS Ge H25.10.21 | H25.10.21 <39 <26 <6.5
5 %fffb,j BER Bm | — JeRiE BEN 43y — BERRRBEEVS— Ge H25.10.21 | H25.10.21 | <46 <36 <8.2
6 %f‘;%;yj BEER BLm | — FEE REY HhI — EREREEREG VS Ge H25.10.21 | H25.10.21 <45 <5.1 <9.6
7 %f*ﬁb,j rER s |— I REY h7 — BERRERE - Ge H25.10.21 | H25.10.21 | <46 <42 <88
8 %f‘;%;yj BEER BLm | — FRE R BEY NgHA — EERBRERE I Ge H25.10.21 | H25.10.21 <40 <39 <19
9 %§§J>7‘ rER s |— I REY Joyay— — BERRERE V- Ge H25.10.21 | H25.10.21 | <58 <47 <11
10 %f‘;%;yj EER BB |— FEE REY AT UTA — EREREEREtVS— Ge H25.10.21 | H25.10.21 <45 <50 <95
1 %f*ﬁb,j rER BHT = I REY Jayay— — BERRERE V- Ge H25.10.18 | H25.10.21 | <57 <44 <10
12 %f‘;%;yj EER BEfT |— FEE REY Jayay— — EREREERE VS Ge H25.10.18 | H25.10.21 <48 <43 <941
13 %§§J>7‘ rER BHT = I REY Joyay— — BERRERE V- Ge H25.10.18 | H25.10.21 |  <6.1 <6.0 <12
14 %f‘;%;yj EER INERET  [— FEE REY =Ty — EREREERE VS Ge H25.10.18 | H25.10.21 <47 <36 <83
15 %f*ﬁ oy | BER INEFRT [— JERIB G REY YYTSE — BEERREREG VS Ge H25.10.18 | H25.10.21 <30 <34 <6.4
16 %f‘;%;yj EER INEFET  [— FRE MR BEY NgHA — EERBRERE I Ge H25.10.18 | H25.10.21 <39 <38 <17
17 %f*ﬁb,j BER INEFRT [— JERIB G REY FTHAE — BEERREREG VS Ge H25.10.18 | H25.10.21 <44 <37 <8.1
18 %f‘;%;yj EER INERET  [— FRE R BEY HrE — EERBRERE I Ge H25.10.18 | H25.10.21 <30 <34 <6.4
19 %f*ﬁb,j BER Mmoo |— JERIB G REY h¥ — EEREERE VS Ge H25.10.18 | H25.10.21 3.45 7.67 11
20 %f‘;%;yj EER LWhET | [BRAR FEE REY B2 — EERBRERE I Ge H25.10.19 | H25.10.22 9.86 19.1 29
21 %f*ﬁb,j BER THBET | (IBRET) I REY RE — BERRERE V- Ge H25.1017 | H25.10.18 | <44 <38 <8.2

22 %f‘;%;yj EER AR |— FEE REY M — EERBRERE I Ge H25.10.17 | H25.10.18 | <18 <12 <3

23 %f*ﬁb,j BER NEFET | — JERIB G REY INE — EEREERE VS Ge H25.10.11 | H25.10.18 | <1.6 <16 <3.2

24 %f‘;%;yj BEER w|EM  |HKER FEE REY [ A — EERBRERE I Ge H25.10.17 | H25.10.18 | <32 446 45

» (FRE | maR | @B® |EKEH FHER | REN s — L Ge | H251017 |H2si008 | <44 | 68l 68

26 %f‘;%;yj BEER w|EM  |HKER FEE REY [ A — EERBRERE I Ge H25.10.17 | H25.10.18 |  <5.1 79 7.9

n (FBE | mam | mum  |BARH FHER | REN s — L Ge | H2s1017 |H2sios | <57 | <29 | <&s

28 %f‘;%;yj EER A |HARH FRE MR BEY [ — EERBRERE S Ge H25.10.17 | H25.10.18 | <56 <38 <94

o (FBE | mar | mum  |BARH FHER | REN s — L Ge | H2s1017 |H2sioe | <as | <43 | <78




i ] #EE (Ba/ke)
No | mExf PEH | o i s fRE% @, 2. mES) REHH #ar | GR0) | amn | 0o1% | 0197 | osad
30 %§§J>7‘ M | BIRERN Fun — EEREERE VS Ge H25.10.17 | H25.10.18 <6.1 <49 <11
31 %f‘;%;yj A |BFRER Bun — EERBRERE I Ge H25.10.11 | H25.10.18 | <58 <5.1 <11
32 %§§J>7‘ M |1BIRER Fun — EEREERE VS Ge H25.10.11 | H25.10.18 <49 <41 <9.6
33 %f‘;%;yj ML |IBEGHET BMun — EERBRERE I Ge H25.10.17 | H25.10.18 <49 <40 <8.9
34 %f“ﬁb,j M |IBREET Fun — EEREERE VS Ge H25.10.15 | H25.10.18 <38 <39 <17
35 %f‘;%;yj ML |IBEGHET Bun — EERBRERE I Ge H25.10.15 | H25.10.18 <42 <35 <17
36 %f“ﬁb,j M |BREET Fun — EEREERE VS Ge H25.10.15 | H25.10.18 <43 <25 <6.8
37 %f‘;%;yj E%AMm |B—/KH Bun — EERBRERE I Ge H25.10.15 | H25.10.18 <42 <21 <6.9
38 %f“ﬁb,j EZAW | IBM#AF Fun — EEREERE VS Ge H25.10.16 | H25.10.18 <39 <36 <15
39 %f‘;%;yj E%AT | IR Bun — EERBRERE I Ge H25.10.16 | H25.10.18 <42 <36 <18
40 %f“ﬁb,j EZAW | IBM#AF Fun — EEREERE VS Ge H25.10.16 | H25.10.18 <44 <36 <8
41 %f‘;%;yj 2FAT (BXER Bun — EERBRERE I Ge H25.10.11 | H25.10.18 <44 <33 <17
42 %§§J>7‘ SERT (BXEHR Fun — EEREERE VS Ge H25.10.17 | H25.10.18 <42 <30 <12
43 %f‘;%;yj RFH  (BXEH BMun — EERBRERE I Ge H25.10.17 | H25.10.18 <48 <29 <17
44 %f“ﬁb,j SIERT  (BXRIIF Fun — EEREERE VS Ge H25.10.10 | H25.10.18 <37 <28 <6.5
45 %f‘;%;yj E3=1:1 [ |=bSIIES Bun — EERBRERE I Ge H25.10.10 | H25.10.18 <58 <5.1 <11
46 %f“ﬁb,j SIERT  ([BXRIIF Fun — EEREERE VS Ge H25.10.16 | H25.10.18 <46 <45 <9.1
47 %f‘;%;yj LERN | BXRIER Bun — EERBRERE I Ge H25.10.8 | H25.10.18 <50 <41 <9.1
48 %f“ﬁb,j FEERA | BXRIER Fun — EEREERE VS Ge H25.10.8 | H25.10.18 <53 <43 <9.6
49 %f‘;%;yj LERN | BXRIER Bun — EERBRERE I Ge H25.10.15 | H25.10.18 <38 <45 <8.3
50 %f“ﬁb,j HiEET | IBHNES Fun — EEREERE VS Ge H25.10.15 | H25.10.18 <43 <37 <8
51 %f‘;%;yj HIEET | IBHER Bun — EERBRERE I Ge H25.10.15 | H25.10.18 | <4.2 <39 <81
52 %f“ﬁb,j HiEET | IBHNES Fun — EEREERE VS Ge H25.10.15 | H25.10.21 <64 <45 <11
53 %f‘;%;yj SWEr  |BIER Bun — EERBRERE I Ge H25.10.7 | H25.10.21 <41 <37 <18
54 %fffb,j £WET  |IBIOF Fun — EEREERE VS Ge H25.10.7 | H25.10.21 <45 <37 <8.2
55 %f‘;%;yj SWEr  |BIER Bun — EERBRERE I Ge H25.10.7 | H25.10.21 <39 5.1 5.1
56 %f“ﬁb,j LT |IBEEHET N — EEREERE VS Ge H25.10.17 | H25.10.21 <32 <21 <5.9
57 %f‘;%fp,j B IBREH NG — EERBRERE I Ge H25.10.15 | H25.10.21 <35 <32 <6.7
58 %§§J>7‘ BiEm | IBKEFR N — EEREERE VS Ge H25.10.16 | H25.10.18 <32 5.79 5.8
59 %f‘;%fp,j B IBREH NG — EERBRERE I Ge H25.10.16 | H25.10.18 <41 <35 <16




i B #EE (Ba/ke)

NO | WMELTH T | e i ) | e BB s, 2w EBED RERE BEE | @D | wmn | 0% | 0197 | ost
60 %f“;%,,j AT |IBLE)ER JERIB G N — EEREERE VS Ge H25.10.16 | H25.10.18 <40 3.88 3.9
61 %f‘;%fp,j BT |IBEARET FERE R INE — EERBRERE I Ge H25.10.15 | H25.10.21 <39 <39 <18
62 %§§J>7‘ BT | B3R JERIB G N — EEREERE VS Ge H25.10.16 | H25.10.21 <40 <31 <141
63 %f‘;%fp,j BT |IBLARF (KEHET) FERE R INE — EERBRERE I Ge H25.10.17 | H25.10.21 <36 <31 <6.7
64 %fffb,j ERET  |BRIHH FeimBE R hE — BERRERE V- Ge H25.1017 | H25.10.21 | <4.2 5 5
65 %f‘;%fp,j ERET  |IBREEA FERE R INE — EERBRERE I Ge H25.10.17 | H25.10.21 <36 <31 <6.7
66 %f“ﬁb,j ERET  |IH/NRF JERIB G N — EEREERE VS Ge H25.10.17 | H25.10.21 <38 <33 <141
67 %ﬁf’;,y ARER  [IBRLUF FERER INE — EERBRERE I Ge H25.10.16 | H25.10.21 <38 4.65 47
68 %f“ﬁb,j HIZET  |IBFILF FeimBE R hE — BERRERE V- Ge H25.10.11 | H25.10.21 | <35 <32 <6.7
69 %ff’fp,j £IWWET  |IBIIOF FERE R INE — EERBRERE I Ge H25.10.15 | H25.10.21 <45 445 45
70 %f“ﬁb,j SEXER |IBEHET JERIB G N — EEREERE VS Ge H25.10.11 | H25.10.21 <40 <34 <14
7 %f‘;%fp,j KEXERE | BFRRF FERE R INE — EERBRERE I Ge H25.10.11 | H25.10.21 <41 <21 <6.8
72 %§§J>7‘ WEET  |IBERA FeimBE R hE — BERRERE V- Ge H25.10.1 | H25.10.21 | <32 <33 <6.5
73 %ff’fp,j =HET ([BEAKRHA FERE R INE — EERBRERE I Ge H25.10.15 | H25.10.21 <40 <31 <11
74 %f“ﬁb,j ZHET ([HPEH JERIB G N — EEREERE VS Ge H25.10.16 | H25.10.21 <37 <39 <16
75 %f‘;%fp,j INEFET  [[BEFHA FERE R INE — EERBRERE I Ge H25.10.15 | H25.10.21 <38 <35 <13
76 %f*ﬁ % E JERIB G Lx8r BEE EEREERE VS Ge H25.10.21 | H25.10.22 <32 5.2 5.2
77 %f‘;%fp,j SiEAT |— FRE MR Y<Ivar BEE EERBRERE I Ge H25.10.21 | H25.10.22 | <25 <26 <5.1
78 %:%E 7 REET |— FeimBE R RARS A5 i3 BERRERE V- Ge H25.10.21 | H25.10.22 | <23 <25 <4.8
79 %ff’fp,j BEfT |— FRE MR BRI 127 ik EERBRERE I Ge H25.10.21 | H25.10.22 | <53 <30 <83
80 %f“ﬁb,j RER  |— JERIB G BRI A 37 B4 EEREERE VS Ge H25.10.21 | H25.10.22 <32 <36 <6.8
81 %f‘;%;yj SiEAT |— FRE R RART A3 it EREREERE VS Ge H25.10.21 | H25.10.22 | <35 3.66 37
82 %:%E 7 E JERIB G RARFA3 F=itn EEREERE VS Ge H25.10.21 | H25.10.22 <33 <35 <6.8
83 %f‘;%fp,j THBET  |— FERE R RRI55 =i EERBRERE I Ge H25.10.21 | H25.10.22 <46 5.22 5.2
84 %:%E % 2iERT |— JERIB G RAR)%7 F=itn EEREERE VS Ge H25.10.21 | H25.10.22 <30 457 46
85 %f‘;%fp,j SiEAT |— FERE R RRI%5 =i EERBRERE I Ge H25.10.21 | H25.10.22 <34 <36 <
86 %f*ﬁ 7 THET  [— JERIB G BRI FIAD Bt EEREERE VS Ge H25.10.21 | H25.10.22 <55 <54 <11
87 %f‘;%;yj THBET  |— FERE R rF/2 — EERBRERE I Ge H25.10.21 | H25.10.22 <41 <46 <9.3
g | RRET  |— JERIB G I — EEREERE VS Ge H25.10.21 | H25.10.22 <86 <82 <17
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